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Class: Pimary §

~ Duration of Paper: 40 min

Marks:

| Multiple Choice-Questions. | -~ 12 4

| Long Answer Cuiestions | ~ 18

| Total

Th use of calculator 1 hbtaliowed.
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Which of the following fractions is the smallest?
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5  -The figure below is made up of agtﬂan_gias;-hﬁf:{?; ACD and ADE. BCDIsa - -
straight fine, Given that the base of triangle ACD is CD, name the height of
‘tiangle ACD.
A . ... E

(1) AB
{2) AC
(3} EA
{(4) ED

Find the area of the shaded triangle.

(1) 110em?
(2) 120 com?
(3) 130 cm?
(4) 220 cm?
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“Ina tlass of 42'shidants; 18 4te girls: EXpross fhie fallb of thi riuinbet bf gifs 167
+ the fiimber of boys It tHe-vlass; - | o

2) 3:4
{3y 4:7
@ 4:3

%5“!18 remainder on a cookie.

<Janet spent of her money on a cake and:
‘What fzaclion of her money had she lsft?

)
@

@ .

Bl o ot @i

(4)

* A repeated pattem is formed using the numbers : nad
The first 15 numbers are- shewn below :

'ﬁoao 3. 3 0:"
1o o0 30

= Whalis the siim of the first 103 humbers?
(1) 120 |
@ 180
(3} 183
4y 228

BP~53




BP-54

Questions 1010 13 earry + etk each. Quiestions 14 fo 20 carry 2 marks each. Show your

working clearly and write yout answers fin the gpaces provided. For quistions which require
uhits, give your answers in the units staled.

{18 marks)

10 Findthe valug of 4+ (101 +19)+2 :

i U I O S RN, s UL S IS i e e i i i

. r 1
11 l?indtlm.xifaalmmf-15 3

12 Whatis the missing number in the following?

3:7=27:{ 7

Ans:

13 Form the smallest even number using all thé digits given below. Each digit can only
be used once.

2,7,0,6,9.4
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IR TR S ins i ccignese mes e

5. Gwen.spent -gof her money and hed $46 left, How miich money did she have at




46 “ihe dogram balow shows fectanle ABCD with a shaded tdangle EBF Il _
- Biven that AE = EB, find the total area of the unshaded parls of rectangle ABCD.
| 28 e
B T I TR A

A

4

-~

15em!

Aps: | _ ot |

17 The ratio of the area of triangle PGS to the area of ttangle PSR is 21 5. The area of
triangle PQR is 84 cm?. What is the area of tiangle PSR? L .
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1% Ina shop, oranges are sold atthe;

5 oranges for $7

Susan bought 30. oranges wzth alt hier money To buy 20 papayas with the: Same
amount of money, she will be shorl of $18. Given that the cost of each papaya isthe
same, Row much does each papaya cost?”
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Chef Lim had some eggs at first, He Uséd 5 -—-“5‘ b of thé”fo!ai aurmbee of eﬁgs andan

:additiona! B35 eggson Moﬁday He continued using 5 ] o! the ;emalnlng eggs on

Tuesday. He used up the remaining 30 eggs on Wednesday. How many eggs did
Chef Lim have at first?
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.z‘ﬁi | F;gura ABCDE has an area of 34 em2 ADG and BOE afe si:aight fines..
:nd the area of the shaded irfang{e aBDs

- ~End of Paper
Sottor; Mrs Chenft L o

Page 11




BP-~60



BP~61

SCHOOL :  HENRY PARK PRIMARY SCHOOL
LEVEL :  PRIMARYS5

SUBJECT :  MATH

TERM :  WA1 (2023)

4 3 2 1 4 1 2 2 3
10) |64
11) |2/15
12) |63
13) [204796
14) | %£X18X11=99 cm2
15) |3/8 =48
1/8=48+3=16
16x5 =80
80 + 48 = $128

16) |28+2=14

% x14x15 =105
28x 15 =420

420 - 105 = 315 cm2

17) 84+7=12
12x5=60cm2

Pgl




18)

6x7=42
424+18=60
60 +20=4$3

19)

30+3=10
10x7=70
70 +38=108
108 =-9=12
12x10=120

20)

34-1%x10x6=4
% x6x4=8cm2
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